A £ 0l & AF & S

SA: EOjQI= XD
i XYl =X EX
o9l ROOI=XIMEIA 23

Al A

SA - ZE . BR() - HRAR - BES of v G o HIDE2
ZOHRI =Xt 102,090,996 82,795,988 19,295,008
= 53,715,680
Jl 16,695
= 8,000,792
Al 40,357,829
el sA sd 79,696, 134 63,274,354 16,421,780
= 38,922,900
) 16,695
= 5,871,188
Al 34,885,351
ZOI=SXAMEIA 25t 79,69, 134 63,274,354 16,421,780
= 38,922,900
Jl 16,695
= 5,871,188
Al 34,885,351
SHA HOHA=SXSSHE =8 40,000 0 40,000
207 ARl 40,000 40,000
01 ARSI 40,000 40,000
ORHAl HOHA=SXISEH & (2024-2028) =8
40,000,000& 40,000
SEAl Hofelzl2 24 289,582 273,616 15,966
308 XXM SO0IH 286,782 257,801 28,981
11 SIS0t oA AS A 286,782 257,801 28,981
O Hl22 Ald2te| CH AR
286,782,000 286,782
403 AXIEHMSA=01d 2,800 16,815 213,015
02 SISOt =2 A 2 E A I 2,800 15,815 ~ 13,015
OUERE2MA Xt A (NAC) EHI+E
2,800,000 *1H 2,800
o XNgEXS XA 40,000 37,000 3,000
307 elztol & 40,000 37,000 3,000
02 IHB A HE L 40,000 37,000 3,000
OFoHe! NLEEEZ XA
40,000,000 40,000
ool A X 64,600 64,110 490
307 el2to| & 64,600 64,110 490
1 AMEISXAIEEXS 64,600 64,110 490
Ol SHUS &It
5,500,000& 12 5,500
OO0l F=2+eHA} 10,800
—ZIIEXNNME ML FHAIK =
2,700,000& 2,700
—dJIE=s0t0Ee FEAIXSR
2,700,000 2,700
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2A:
X XH -
o e

=aak

ZOHR!I= Xl

el =X s8
=X AEIA 25t

. SHA(3H) - MRALY

- HyS

Ofl &F2H

HMEE
Ofl &k2h

ZOHQICIANE B2R23 S

200,000& *252]

2,400
5,000

5,000

4,000

1,000

Mo

=

2,364,412
1,182,206

177,331
1,004,875

2,191,552

172,860

101 eI24d|

hoH

=

2,364,412
1,182,206

177,331
1,004,875

2,191,552

172,860

e
Pl
o
=
R
o
Y
==

e
>
n
>
Q
H0
0
(=

1,978,411,000&

221,135,000

164,866,000

hoH

=

hoH

=

Mho

=

2,364,412

1,978,411
989,205
148,381
840,825

221,135
110,568
16,585
93,982

164,866
82,433
12,365
70,068

2,191,552

172,860

HOHOIL X2 KIS (AIZERMIL XF2 )

ho

=

302,825
151,410

22,712
128,703

262,100

40,725

101 e124d|

o

=

302,825
151,410

22,712
128,703

262,100

40,725

04 JIZtN22 XS24+
OAIZTMIZRtel Ab Q124

£

OAIZERIZ X2l AtY 2]

253,333,000

28,387,000

o

302,825

253,333
126,667

18,999
107,667

28,387

262,100

40,725




2A:
X XH -
o e

=aak

HOHOI= X 2t
Z0Hol =X EX
ZOjOI=RIMEIA 23t

SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 14,193
=S 2,130
Al 12,064
OAIZIHIZ N2 At =2
21,105,000 21,106
= 10,550
s 1,583
Al 8,972
oI Rl X3 (SXILX2l) 688,391 656,853 31,538
= 344,195
=S 51,630
Al 292,566
307 21201 & 688,391 656,853 31,538
= 344,195
= 51,630
Al 292,566
1 AMISXAIEEXS 688,391 656,853 31,538
OSXAel At el
659,393,000 659,393
= 329,697
= 49,454
Al 280,242
O=Xgiiel AIg 234l
28,998,000& 28,998
= 14,498
= 2,176
Al 12,324
ZOHQIL Tl X2 (LEH M LAESAIEZ T Rte) 182,509 174,686 7,823
= 91,254
= 13,689
Al 77,566
307 @20l & 182,509 174,686 7,823
= 91,254
= 13,689
Al 77,566
11 AMEISXAIEEXS 182,509 174,686 7,823
OL M LABSAIE Xt 2I24H|
151,226,0002 151,226
= 75,613
= 11,342
Al 64,271
OLSHMALASSAIE T2 22|
18,680,000 18,680
= 9,340




2A:
X XH -
o e

=aak

HOHOI= X 2t
HoHel =X EX
ZOjOI=RIMEIA 23t

SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,401
Al 7,939
OLLHILVTSABEAR L] SN2
12,603,000& 12,603
= 6,301
S 946
Al 5,35
SSY NGRsE FHENEA 33,075 31,410 1,665
) 16,695
S 2,457
Al 13,923
307 elztol & 33,075 31,410 1,665
Jl 16,695
< 2,457
Al 13,923
11 AMEISXAEEES 33,075 31,410 1,665
OSSZM NGXEE FHBANH
33,075,000 33,075
Jl 16,695
== 2,457
Al 13,923
ZOHel LXI2IXI& (A2 E0HRI tDFAIZ X2 108,264 78,249 30,015
307 glztol & 108,264 78,249 30,015
11 AMEISXAEEXS 108,264 78,249 30,015
OZ O X2 XI& (Al ZHE0H QI OFDFAL KE
el 108,263,200 108,264
o EsXE=0H XA 41,182,920 29,939,360 11,243,560
= 28,828,044
= 1,853,231
Al 10,501,645
307 elztol & 41,182,920 29,939,360 11,243,560
= 28,828,044
< 1,853,231
Al 10,501,645
11 AMEISXAEEES 41,182,920 29,939,360 11,243,560
OZoje gsXa=0 X
41,182,920,000& 41,182,920
= 28,828,044
< 1,853,231
Al 10,501,645
BS2X SN 410,000 162,000 258,000
= 287,000
[ 18,450
Al 104,550




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 410,000 162,000 258,000
= 287,000
== 18,450
Al 104,550
11 AMEISXAEEES 410,000 162,000 258,000
OEs2xX JHtsX 410,000,000 410,000
= 287,000
=S 18,450
Al 104,550
o Es XS 24A12+ K& 559,440 345,472 213,968
< 167,832
Al 391,608
307 glztol & 559,440 345,472 213,968
= 167,832
Al 391,608
11 AMEISXAIEEXS 559,440 345,472 213,968
odelas NS 24A12F XA
569,440,000 559,440
=S 167,832
Al 391,608
SSTMHU2SKEA 2,983,680 2,748,060 235,620
< 895,104
Al 2,088,576
307 lztol & 2,983,680 2,748,060 235,620
= 895,104
Al 2,088,576
11 AMEISXAIEEES 2,983,680 2,748,060 235,620
OSsdMe 2SN 2,983,680,000& 2,983,680
= 895,104
Al 2,088,576
STHUALS KR (Al 439,956 439,9% 0
301 EtE NS 435,456 435,4%
02 ARI2HHHS(HAAS, NLHE) 435,456 435,456
Ozl=ss80e 2K
435,456,000 435,45
308 AHXIEMSOIH 4,500 4,500
N S| 2SHUSE SHAAS AN 4,500 4,500
OAl =IHRIE At A TR AIAY 918
=gl 4,500,000 4,500
22T FHESAHEIA K 4,316,100 2,814,240 1,501,860
= 3,021,270
= 194,224
Al 1,100,606




2A: HOoeIs Xt
2 Zoiel =X S
&2l U= AEIA 2ot (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 4,316,100 2,814,240 1,501,860
= 3,021,270
T 194,224
Al 1,100,606
11 Al SXAMEE R 4,316,100 2,814,240 1,501,860
ORLHMR EAHEAHIA X2
4,316, 100,000& 4,316,100
= 3,021,270
& 194,224
Al 1,100,606
AW LIRS HRFEHSMEIA KR 608,34 539,442 68,912
= 425,848
& 27,376
Al 155,130
307 QIZt01A 608,34 539,442 68,912
= 425,848
& 27,376
Al 155,130
11 Al =SXAMEES 608,354 539,442 68,912
OFAE dEHsM SNSHSAEIA K
& 608,354,000 608,354
= 425,848
& 27,376
Al 155,130
Zopel St LI AALS 1,200 1,200 0
= 600
Al 600
307 QIZ2t01 A 1,200 1,200 0
= 600
Al 600
11 AR SXAMEER 1,200 1,200 0
OZHe S=SotdLS HHIAALS
1,200,000& 1,200
= 600
Al 600
LS THEAMHIA BIRH XI& 2,400,000 2,160,000 240,000
= 1,680,000
& 108,000
Al 612,000
307 212+01™ 2,400,000 2,160,000 240,000
= 1,680,000
& 108,000
Al 612,000
11 AR SXAMEES 2,400,000 2,160,000 240,000




2A:

ZOHR!I= Xl

. ZOje =X S8
=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Og2MeMtIA HeX X3
2,400,000,000& 2,400,000
= 1,680,000
[ 108,000
Al 612,000
AHLEXE H*H K& 5,380 6.497 AT 117
= 3,766
& 242
Al 1,372
307 glztol & 5,380 6,497 AT 117
= 3,766
s 242
Al 1,372
1 ABIS XA EE 5,380 6,497 AT
OLl R BH2H X
5,380,000 5,380
= 3,766
=S 242
Al 1,372
LR F2aE N 26,880 11,520 15,360
= 18,816
=S 1,210
Al 6,854
307 21201 & 26,880 11,520 15,360
= 18,816
= 1,210
Al 6,854
1 AMISXAEEXS 26,880 11,520 15,360
ORI SRAE X
26,880,000& 26,880
= 18,816
= 1,210
Al 6,854
NAS Z0Hel MEHl & Al X2 15,400 11,120 4,280
= 7,700
= 1,185
Al 6,545
301 LEtE N = 15,400 11,120 4,280
= 7,700
== 1,155
Al 6.545
01 A2 HSFS(RNEERTHE) 15,400 11,120 4,280
OMASZOQ el X Al X2
15,400,000& 15,400




2A:

ZOHR!I= Xl

. ZOje =X S8
=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,700
=S 1,185
Al 6,545
C/EE el A E+88 A3 51,000 84,000 A33,000
< 16,300
Al 35,700
301 EtE NS 51,000 84,000 233,000
= 15,300
Al 35,700
02 ALRI2EH 2GS (FHAAHS, NSWE) 51,000 84,000 /33,000
ClEE Z0He tay S35 28 XN
51,000,000 51,000
= 15,300
Al 35,700
QISEHOIZ THEXIZH K& 6,000 6,000 0
[ 1,800
Al 4,200
301 LEIE NS 6,000 6,000 0
= 1,800
Al 4,200
02 A2 A LGS (FHAAHS, NLWE) 6,000 6,000 0
OQIZLHOIZ HEXIZY X2
3,000,000& x2&H 6,000
= 1,800
Al 4,200
2RI W2 28,537 27,912 625
= 22,830
Al 5,707
301 2EN= 28,537 27,912 625
= 22,830
Al 5,707
01 A2 HSFS(RNEERTHE) 28,537 27,912 625
OEXJ1D|uR 28,537,000& 28,537
= 22,830
Al 5,707
HEE0H SABIEAE 12,000 17,000 /5,000
= 8,400
= 540
Al 3,060
301 LEtE N = 12,000 17,000 /5,000
= 8,400
= 540
Al 3,060




2A:

ZOHR!I= Xl

. ZOje =X S8
&2l U= AEIA 2ot (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A EEATZ(2DEZME) 12,000 17,000 /5,000
ON gl EatHIE X2
12,000,000 12,000
= 8,400
== 540
Al 3,060
o sMXES K& 65,000 65,000 0
301 LBISEHI 65,000 65,000
02 ABIBERAH S (FHAS, ML) 65,000 65,000
OF0jl BUTES X
65,000,000 65,000
MAas HOope! X 48,400 51,400 A3,000
301 LB 48,400 51,400 3,000
2 AR EEAFS(HAHNS, NLIHE) 48,400 51,400 3,000
ORASTOHR A0 S “2lblg X2
27,400,000 27,400
OMASHOQ! FHE2MNL M
15,000,000 15,000
Oel=sgdol2 ==Xt MHEXIZH X
3,000,000 x2H 6,000
= el =8 SH 178,200 72,000 106,200
< 53,460
Al 124,740
301 EtE NS 178,200 72,000 106,200
= 53,460
Al 124,740
R ABIZEELES(HAAS, NLHR) 178,200 72,000 106,200
OFIIE HoO! S8 =X
178,200,000& 178,200
= 53,460
Al 124,740
ZOHRIDt7 H ket 592,000 551,300 40,700
[ 177,600
Al 414,400
301 LEIE NS 592,000 551,300 40,700
= 177,600
Al 414,400
02 A2 XSG (FHAAHS, W) 592,000 551,300 40,700
ORIt & itet| 592,000,000& 592,000
= 177,600
Al 414,400
MNASEOHRI2IZH XI& 52,500 55,500 A3,000
== 16,750
Al 36,750




M ZOHI=X 2t
= Zojel =X s

&2l U= AEIA 2ot (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
301 LPBNZ 52,500 55,500 A3,000
& 15,750
Al 36,750
02 MBI EZASHS(HAUAS, XLTHA) 52,500 55,500 A3,000
OMASEe 2=dl X&
52,500,000& 52,500
T 15,750
Al 36,750
NASHEOC! X017 XA 38,000 28,000 10,000
= 11,400
Al 26,600
301 LBBNSZ 38,000 28,000 10,000
& 11,400
Al 26,600
02 MBI EZAGS(HAUAS, XLTHA) 38,000 28,000 10,000
OMASZER EX017] XA
38,000,000& 38,000
T 11,400
Al 26,600
Zofel=X2 29 3,398,175 3,247,034 151,141
= 70,000
Al 3,328,175
307 212+01 A 3,398,175 3,247,034 151,141
& 70,000
Al 3,328,175
05 QIZtRIEr S 3,398,175 3,247,034 151,141
OFleI=X2 29 3,398, 175,000& 3,398,175
& 70,000
Al 3,328,175
ZOHR! XFFHER0 2 194,300 217,408 A23,108
& 58,290
Al 136,010
307 QIZt01 A 194,300 217,408 A23,108
= 58,290
Al 136,010
10 AISIS XA EEE2IHIE X 194,300 217,408 A23,108
OZofel AES R0l 29
194,300,000& 194,300
& 58,290
Al 136,010
ZoelsXi2 Ald2 2l 1,980 1,980 0
402 QI X201 ™ 1,980 1,980
03 QIZtRIErAHI 1,980 1,980




2A:
X XH -
o e

=aak

HOHOI= X 2t
Z0Hol =X EX
ZOjOI=RIMEIA 23t

SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=XZ H3EAlaE )IE2
1,980,000 1,980
AZEOS B=AM2 23 1,340,426 1,110,426 230,000
= 59,357
Al 1,281,069
307 @12t0| & 1,110,426 1,110,426 0
== 59,357
Al 1,051,069
05 2ItRIE= 1,110,426 1,110,426 0
OAIZEIE A=A 2 2
1,110,426,000& 1,110,426
= 59,357
Al 1,061,069
401 AIEHIX R0 230,000 230,000
01 A28l 230,000 230,000
OdedIl WM SAt 230,000,000 230,000
U F2UES AL 2S 3,778,263 3,299,440 478,823
< 377,828
Al 3,400,435
307 212+01& 3,778,263 3,299,440 478,823
< 377,828
Al 3,400,435
10 Al2IS XA EEE 22X 3,778,263 3,299,440 478,823
OBMIEAEBAL 2
3,778,263,000& 3,778,263
= 377,828
Al 3,400,435
OSSN 29 372,130 317,860 54,270
== 37,213
Al 334,917
307 212+01& 372,130 317,860 54,270
< 37,213
Al 334,917
10 Al2IS XA EEE 22X 372,130 317,860 54,270
O=x=0iSHHe 29 372,130,000 372,130
= 37,213
Al 334,917
I HHO0ISAEHH 2E 416,040 362,920 63,120
=S 41,604
Al 374,436
307 21201 & 416,040 352,920 63,120
== 41,604
Al 374,436




2A:

E M

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 Al SXAIEEHE2EHI2x 416,040 362,920 63,120
OHUMALLO0ISA MY 2
416,040,000& 416,040
= 41,604
Al 374,436
ARISAIAIE BHEHEAS 30,000 0 30,000
== 15,000
Al 15,000
402 2I2E X201 & 30,000 0 30,000
< 15,000
Al 15,000
02 QI X2 AL EE(OIHTHE) 30,000 0 30,000
OALRISIIAIE SZHEAY
30,000,000& 30,000
= 15,000
Al 15,000
ROHQIKIHABTHE (FHOFZ ) A BAGS 2224 250,800 249,600 1,200
L=
< 25,080
Al 225,720
301 2eEN= 250,800 249,600 1,200
& 25,080
Al 225,720
02 ARSI 2EH 2GS (FHAAHS, NLWE) 250,800 249,600 1,200
OHOMAMIISXAIE SAHL S22
A& 227,400,000 227,400
= 22,740
Al 204,660
OZOAXISAMSI THEAIL SALA S22
=g X2 23,400,000 23,400
[ 2,340
Al 21,060
HOHATHOI=XIAIE 2SXIR(28) 82,200 78,200 4,000
= 8,220
Al 73,980
307 el2to| & 82,200 78,200 4,000
= 8,220
Al 73,980
10 MEISXAEHE2EHIEX 82,200 78,200 4,000
OZOHATHII=XIAIE 2S KR (28)
82,200,000 82,200
[ 8,220
Al 73,980
ZOHRIAFAIE 2SR 3,698,051 3,550,749 147,302




2A:

E M

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,483,635
=S 159,663
Al 1,064,753
307 @I2to| & 3,698,051 3,550,749 147,302
= 2,483,635
= 159,663
Al 1,064,753
10 Al SAAEEHE 22X 3,698,051 3,550,749 147,302
OROINFAE 2% X2
3,698,051,000& 3,698,051
= 2,483,635
= 159,663
Al 1,064,753
HOAAFAIE 2SR (65) 539,515 515,578 23,937
== 53,952
Al 485,563
301 22N = 265,500 243,800 21,700
[ 26,550
Al 238,950
02 MBI 2EHSFS(HAANS, XLHE) 265,500 243,800 21,700
OBNAHFAIL EMX S4224Y
65,500,000 265,500
= 26,550
Al 238,950
307 @I2t01 & 274,015 21,778 2,237
s 27,402
Al 246,613
10 MeISXAEHE2EHIEX 274,015 27,778 2,237
OHOMLUNFAIE 2SXA(63)
274,015,000 274,015
< 27,402
Al 246,613
ZOHRIHFAIE LAX XIR(45) 45,566 46,797 A1,231
= 13,670
Al 31,8%6
307 gl2to| & 45,566 46,797 1,231
=S 13,670
Al 31,896
10 Al SXAEEE 22X 45,566 46,797 1,231
OFOHAHFAIL LA K (4F)
45,566,000 45,566
< 13,670
Al 31,896
JOHUNFAIE SAL A - ORI2Z 2 XA 31,112 31,112 0




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 15,556
Al 15,556
307 lztol & 31,112 31,112 0
= 15,55
Al 15,556
10 Al SXAAEEHE2EHI2x 31,112 31,112 0
OZONQUHFAIE SAMA HE - ORIZZ2
g X& 31,112,000& 31,112
=S 15,556
Al 15,55
O HFAIE JISEH 80,800 0 80,800
= 40,400
= 28,280
Al 12,120
307 @120l & 80,800 0 80,800
= 40,400
= 28,280
Al 12,120
1 AMEISXAIEEXS 80,800 0 80,800
OZOMANFAIE JIs2S
80,800,000& 80,800
= 40,400
= 28,280
Al 12,120
ZOHRIAFAIE 201 ED| dE X 1,71 1,800 89
= 1,026
= 103
Al 582
307 el2tol & 1,711 1,800 89
= 1,026
& 103
Al 582
11 AMEISXAEEES 1,711 1,800 A89
OHMAHNFAIE SIEE)| ellgXS
1,711,000 1,711
= 1,026
< 103
Al 582
HAZ O (ZHOAAIE) 310,000 275,000 35,000
= 279,000
< 21,700
Al 9,300
301 EtE NS 310,000 275,000 35,000
= 279,000




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 21,700
Al 9,300
01 A2 HSHS(RNEERTH) 310,000 275,000 35,000
O=RIIZHEEHSH(ZHAUAE)
310,000,000& 310,000
= 279,000
< 21,700
Al 9,300
Hel2d 0 AHFAIE X2 142,800 142,800 0
= 42,840
Al 99,960
307 el2to| & 142,800 142,800 0
S 42,840
Al 99,960
10 Al SXAIZEE2EHIEx 142,800 142,800 0
OfelE2g HOoHelHFAIE XI&
142,800,000 142,800
[ 42,840
Al 99,960
Z0He! 365 =24 90,750 86,760 3,990
= 27,225
Al 63,525
307 el2to| & 90,750 86,760 3,990
= 27,225
Al 63,525
10 AlRISXAZEHE 22X 90,750 86,760 3,990
OFHe! 3658 2 90,750,000 90,750
== 27,225
Al 63,525
ZOHRAEDIHNFAIE 2 360,504 276,119 84,385
= 36,050
Al 324,454
307 elztol & 360,504 276,119 84,385
= 36,050
Al 324,454
10 Al SAAEEHE 22X 360,504 276,119 84,385
OZOMAEIINH=AIE 29
360,504,000 360,504
s 36,050
Al 324,454
oSS HEIE 2 526,049 572,008 N45,959
= 52,604
Al 473,445
307 elztol & 526,049 572,008 N45,959




2A:

ZOHR!I= Xl

. ZOje =X S8
=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 52,604
Al 473,445
10 Al SXAEEHE2EHI2x 526,049 572,008 A\45,959
OBHABSHEINE 2%
526,049,000& 526,049
= 52,604
Al 473,445
0 MNEMEAIE 2 2,756,543 2,549,794 206,749
== 274,442
Al 2,482,101
307 212+01& 2,756,543 2,549,794 206,749
< 274,442
Al 2,482,101
10 Al2IS XA EEE 22X 2,7%,543 2,549,794 206,749
OXHMHAXATHEAILE 2
2,756,543,000& 2,756,543
= 274,442
Al 2,482,101
ZOHe! MAHEAE 2SNA(78) 236,295 215,518 20,777
== 23,254
Al 213,041
301 22N = 78,600 74,750 3,850
[ 7,860
Al 70,740
02 MBI 2HHSFHS(HAANS, XLHE) 78,600 74,750 3,850
OBMNIR LT EALBA RS 2224Y
78,600,000 78,600
= 7,860
Al 70,740
307 @I2t01 & 157,695 140,768 16,927
s 15,3%
Al 142,301
10 Al SXAEEE 22X 157,695 140,768 16,927
OHHAXATHEANE 2EXH(TS)
157,695,000 157,695
< 16,3%
Al 142,301
ZoHe! HATHEAIE LK XA (45) 65,270 55,007 10,263
= 19,581
Al 45,689
307 gl2to| & 65,270 55,007 10,263
=S 19,581
Al 45,689
10 Al SXAEEE 22X 65,270 55,007 10,263




M ZOHI=X 2t
= Zojel =X s

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZMNIFLTNEA L AT X2 (4Z)
65,270,000& 65,270
= 19,581
Al 45,689
ZOHQIZ S THE AL DAY X 41,078 0 41,078
== 12,323
Al 28,755
307 212+01& 41,078 0 41,078
[ 12,323
Al 28,755
10 AlRISTIAIEEE 22X 41,078 0 41,078
OFAXATHEAIE OPIE X2
41,078,000& 41,078
= 12,323
Al 28,755
O MHIHEAIE Jl2l=E 111,360 0 111,360
s 33,408
Al 77,952
307 212+01& 111,360 0 111,360
[ 33,408
Al 77,952
10 Al2ISTIAIEEE 22X 111,360 0 111,360
OHUMAXNETHEAIL D2+
160,0002 x58 « 122 111,360
= 33,408
Al 77,952
OIS MHEAL JIS2ES 91,000 80,800 10,200
= 45,500
= 31,850
Al 13,650
402 2I2F X201 & 91,000 80,800 10,200
= 45,500
< 31,850
Al 13,650
02 QI X2 AL EE(OIHTHE) 91,000 80,800 10,200
OHUMAXNEHEAE JISES
91,000,000& 91,000
= 45,500
< 31,850
Al 13,650
ZOHAXSIHEAIE HMZEHUNUHEX 2L 25,700 0 25,700
307 elztol & 4,500 0 4,500
11 AMEISXAIEEXS 4,500 0 4,500




2A:

E M

X=]

ZOHR!I= Xl
el =X s8

D A= XIAHIA 23t

SA - B BRA(SH) - HRA - of v G o HIDE2
OHHANAHEAE HAUSHIHUE
500,000%*9?H% 4,500
401 AIZHIX R0 4,000 4,000
01 AlZH| 4,000 4,000
OBONQIZISTHEAIL MBI ®IIB
At 4,000,000 4,000
405 KHaHE SH 17,200 17,200
01 AL =S F=H 17,200 17,200
OHONQIRATIEAIL MASTN SB7
24l 17,200,000 17,200
ZOHAI=STAIEHEZZ 08 K& 26,710 10,506 16,204
= 8,014
Al 18,696
307 gl2to| & 26,710 10,506 16,204
=S 8,014
Al 18,696
10 MeISXAEHE2EHIEX 26,710 10,506 16,204
OZMASXAIL =28l X
26,710,000 26,710
< 8,014
Al 18,696
O =SXIAESARNHRIHEHI X Z 192,600 182,400 10,200
= 192,600
301 22N = 192,600 182,400 10,200
< 192,600
02 ARSI EE A S (FANE, XLETHE) 192,600 182,400 10,200
OZOHASXIAIE AR MLMEHl X2
163,800,000 163,800
== 163,800
OZ AR MHEAIE SAEL XM2IHE8] K
& 28,800,000 28,800
s 28,800
ZOHRIE O ZA J=XEHH 29 227,300 185,100 42,200
= 22,500
Al 204,800
307 @120l & 227,300 185,100 42,200
s 22,500
Al 204,800
11 AMRISXAEEES 227,300 0 227,300
OFOHAEHAZA J|I=X2HH 22
227,300,000 227,300
S 22,500
Al 204,800
ZoHlEo|Sa HHEIMRE 29 57,148 51,766 5,382




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 17,145
Al 40,003
307 lztol & 57,148 51,766 5,382
= 17,145
Al 40,003
11 AMEISXAIEEXS 57,148 0 57,148
OHMHIEHASA SHEANRE 28
57,148,000 57,148
=S 17,145
Al 40,003
ZONAUEIAIE H=IAL 163,110 0 163,110
< 48,933
Al 14,177
307 elztol & 163,110 0 163,110
= 48,933
Al 14,177
1 AMEISXAEEES 163,110 0 163,110
OHOHIEHIAAIE Ha=EAF AR HI
163,109, 3002 163,110
= 48,933
Al 14,177
OIS HEX A 29 600,000 400,000 200,000
[ 180,000
Al 420,000
307 glztol & 600,000 400,000 200,000
= 180,000
Al 420,000
03 I HEE2SHIEx 600,000 400,000 200,000
OIS HEXNALEH K&
600,000,000 600,000
= 180,000
Al 420,000
OIS HE XA HE SAH XISl K& 8,400 7,200 1,200
[ 8,400
301 LEtE N = 8,400 7,200 1,200
= 8,400
02 N 2EHSFHS(HAANS, XLHE) 8,400 7,200 1,200
OIS HEHE SAL MLIHEH X
& 8,400,000& 8,400
= 8,400
oINS MEME HEE 22 XN 90,000 80,000 10,000
= 27,000
Al 63,000
307 elztol & 90,000 80,000 10,000




2A:

ZOHR!I= Xl

. ZOje =X S8
=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 27,000
Al 63,000
03 2IIHHEHE2SHIEX 90,000 80,000 10,000
O TEHMEHH HEs 2 X
90,000,000& 90,000
= 27,000
Al 63,000
SOHQ! MEOorY X2 21,940,743 19,067,515 2,873,228
= 14,792,780
== 2,129,604
Al 5,018,359
e JI=E2d 21,940,743 19,067,515 2,873,228
= 14,792,780
S 2,129,604
Al 5,018,359
=== (01x) X2 2,693,980 1,486,650 1,207,330
= 1,885,786
= 565,736
Al 242,458
301 LEtE N = 2,693,980 1,486,650 1,207,330
= 1,885,786
& 565,736
Al 242,458
01 AR E2EHSFS(RRNEERTHE) 2,693,980 1,486,650 1,207,330
OFM==(Ix) X= 2,693,980,000& 2,693,980
= 1,885,786
[ 565,736
Al 242,458
Z=(XARAS) K= 1,177,318 940,341 236,977
= 824,122
S 247,237
Al 105,959
301 LELE NS 1,177,318 940,341 236,977
= 824,122
=S 247,237
Al 105,959
01 Al EE A S(FRNEXM) 1,177,318 940,341 236,977
OZM+=E(MHYAS) Xa
1,177,318,000& 1,177,318
= 824,122
=S 247,237
Al 105,959
CHIEM S 856,320 856,320 0




A HOHISKIN
I Zojo Moty X
CHel: ZOHQ! JIZMEZE (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 256,8%
Al 599,424
301 EtE NS 856,320 856,320 0
= 256,896
Al 599,424
02 ARSI X LGS (FHAAHS, NSWE) 856,320 856,320 0
O=HIH M=~ 856,320,000 856,320
= 256,896
Al 599,424
gofelis =0 X=s 16,876,279 16,525,199 1,351,080
= 11,813,3%
= 1,012,577
Al 4,050,307
301 EtE2 NS 16,876,279 16,525,199 1,351,080
= 11,813,3%
= 1,012,577
Al 4,080,307
01 Al EE A2 (2RNEXMR) 16,876,279 15,525,199 1,351,080
OFeIgs 20 N2
16,876,279,000& 16,876,279
= 11,813,3%
= 1,012,577
Al 4,080,307
ZoKe! 2l=Hl A& 336,846 259,005 77,841
= 269,477
= 47,158
Al 20,211
307 elztol & 336,846 259,005 77,841
= 269,477
[ 47,158
Al 20,211
11 AMEISXAEEES 336,846 259,005 77,841
Ol 2l=Hl X 336,846,000 336,846
= 269,477
== 47,158
Al 20,211
wWEEH T (=) 374,160 374,160 0
w=sZdl X& 374,160 374,160 0
Stus A& 374,160 374,160 0
308 AXIHSOIA 374,160 374,160 0
08 WEII20UStEx 374,160 374,160 0
OE+UsExR 2SN
374,160,000 374,160




FORQI = X1 1t
HH 2 ZHI(ZOH
Jl= 2|
S A - BRI - NRA - BES e
AH2IBHI(HHL=K D 79,959 79,959 0
Jl=23H| 79,959 79,959 0
JI=23Hl 79,959 79,959 0
201 fer= 3| 52,719 52,719 0
01 At 2t 17,280 17,280 0
OfMEg0123I 17,280
—2ot=2H| 40,0002 x16E* 1204 7,680
—=¢tl 50,0002 1621201 & 9,600
02 S3=4gl 35,439 35,439
OoRERe3 35,439
—SJIfH 2,530& 1,050+ 1204 31,878
—eged 4303 690+ 1204 3,561
202 04l 23,040 23,040
01 2LHoIH 23,040 23,040
OgRFaI|
120,000 x 162 * 12043 23,040
203 =] 4,200 4,200
MU A2 LRSI 4,200 4,200
ORMEZE R4
350,000 * 1204 & 4,200




